7. PROBLEMS ON NUMBERS

In this section, questions involving a set of numbers are put in the form of a puzzle.
You have to analyse the given conditions, assume the unknown numbers and form

equations accordingly, which on solving yleld the unknown numbers.

SOLVED EXAMPLES

Ex. 1. A number is as much greater than 35 as is less thap 86 Find the soumber
Sal. Let the number be x Then, s - 38 =88 - x = 2Zx=56+30= 122 = x= 6L

Henee, the required number 1§ 61
Ex. 9. Find & number such that when 15 is subtracted from T times the avmber, the
regult is 10 more than twieer the sumber (Hotel Management, Z002)
Beol. Let the number be x Then, Tx = 156 = 2x + Mm = Ex=25 = x=5
Hence, the required number is 5

Ex. 3. The sum of & rational numbar and its reciprocal is % Find the number

(5.5.C. 2000)
Bsl. Leat the number e x
7
Thow s+l ald o 221 _18 O P-idxc@eD
o i X &
= A iy —dx+ Bl &= (Ax-i(2x— =0
g
=3 r ®E = QO X = —,

Henes, the required number is % or E.
Ex. 4. The sum of iwo sumbers is 184, I one-third of the ooe excesds one-seventh

of the other by 8, find the smaller numbaer
Bol. Let the numbers be x and (184 - ). Then,

%—M—& = Te=3{184-x)=168 & 1= THl = zx=T2
i
So, the numbers are 72 and 112, Hence, smaller number = 72,
Ex. b The difference of two oumbers is 11 and one-fifth of their gum is 8. Find the
numlu!'ﬂ.

Sol. Let the numbers be x and y. Then,

r—y=11 1] and %I’r*,ﬂ =8 = rry=4b wok B}

Adding (i) and (fi), we get : 2x = 56 or x = 28, Pulting x = 28 in (i), we get : y= 17

Henee, the normbers are 28 and 17,
Ex. 6. I the sum of two numbers is 42 and their prodoct is 437, then find the
absalute difference befween the pumbers. (8.5.C. 20C3)
8ol. Let the numbers be x and » Then, x + ¥y = 42 and x = 437.

x-y=JlxsyP—duy = Ji42F - 42437 = JIT64- 1748 = 16 = 4.

- Required dilTerence = 4.
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numbers,
Sol. Let the numbers be x and (15 - ¥,
Then, 2 + {15~ 2 =118 o 2+ 22% + ¥ - 30xr = 113
= I 30x+112-0 o F 1554+ 568 =0
= (x=Tilx-8 =0 = x=Togrx=Aa
&0, thir numbers are 7 and 5.

Ex. 8. The average of four consecutive even numbers iz 27, Find the largest of these
numbars,

Bel. Let the four consecutive even numbers be £ r+ 2y < 4 und x + 6,
Then, sum of these numbers = (27 » 4) = 108
So, x+(x+Dai{x 44} +ix+8 =108 ordo= Wor x 24
Largest number = (x + 6 = a0
Ex, 9. The sum of the squares of three consscutive odd numbers is 2531, Fiod the
numbers.
Sol. Let thenumbers be x x+ 2 and v+ 4
Then, 2+ (x+ 22 + {x + )% = 2631 o+ S22 ¢ 12x— 2511 = 0
@ A4 ax-83T=0 = -2 ilx+5D=0 o= x=27
Hence, the required numbers are 27, 29 and 21

Ex. 10. Of two numbers, 4 times the smailer one iz less thag 3 times the larger one
by 5. If the sum of the numbers is larger than & Hmes their difference by & find the iwo
numbers.

Sol. Let the numbers be x and ¥ such that x> ¥
Then, 3x—4p=5 ..iiand x + ¥ - 6 ix=¥=8 w» —-Bx+ T¥r=6 _.{IN
Selving (i) and {if), we get : ¥ - 59 and ¥ =43
Hence, the required numbers are 59 and 43,

Ex 11 The ratio between ¢wo-digit number and the sum of the digite of that
number is 4 : 1. If the digit in the unit's place is 8 more than the digit in the ten’s place,
what jg the number 7

Sol. Let the ten's digit be x Then, unit’s digit = (x + 3L
Sum of the digits = x + (x + 3) = 2x + 3. Number = Wx+ix+ 3= 11x + 3.
11+ 3

2¢ + 3
Hence, required number = 11x + 2 = 35

Ex. 12. A number consists of two digits. The sum of the digits iz 9. If 63 is subtracted

from the number, its digite are interchaaged. Find the number

Sol. Let the ten's digit be x Then, unit's digit - (9 - 2,

Mumber = 10x + (9 — ) = Gx + G,

Number obtained by reversing the digits = 10 (9 = x) = x = 00 — Ox
Bx+9)-68=00-9x o= 18v=144 ¢+ x=§,

So, ten’s digit = 8 and unit's digit = 1.

Hance, the required number is A1

=-':-' = lle+3 =242 +3 = S3re9 & % a

Ex. 13. A fraction bl!i!-ﬂ!l]l‘l; whea I is added to both, its numerator and

: F | .
fenominator And, it becomes - when 1 is subtracted from both the numerafor and
fenominator Find the fraction.
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Sal. Lt the required fraction be % Then,

z+1 B2 ] r=1 1
— = = .EI-E. - = -\II' ['Hi = - = =1 Jll[ )
y+1 3 RERE WS tE ™ =Y 3

Solving (i) and (if), we get - x= 3, y= &

Required fraction = %

Ex. 14. 50 iz divided into twe paris such that the sum of their reciprocals is %

Find the two parts.
Sal.  Let the two parts be x and (50 < x).

i, S =3 L B-xra 1 2 _Kiz+800=0
¥ Bl=x 12 c(ED+-x) 12

w (x-30)(x—20p=0 =+ x=2300r x= N

%o, the parts are 30 and 20.

Ex. 16. If three numbers are added in pairs, the sums equal 10, 19 and 21. Find the
pumbers. (8.5.C. 2000

Sol. Let the numbers be x, ¥ and = Then,

x4+ y= 10 i F4+r=18 i) x+z=21 3]

Adding (i), (i) and (iff), we get - 2{x+ y+ 20 = 50 or [x & y+ 2 = 5.

Thus, = {25 - 19 = B: ¥ = (25 — 21} = 4; z = (25 = 10} = 15

Hence, the required numbers are &, 4 and 15

.,_...,____a.—.———-—---——————-—--rrr———l-l-————-l--——-“-“—

(OBJECTIVE TYPE QUESTIONS)

Directions : Mark (¢ against the correct answer
1. The difference between a number and its three-fifth is 50. What is the number ?
{a) 75 (b 100 e 125 (d) Weonme of thess
{(Bank PO. 2003)
2 1f a number is decreased by 4 and divided by &, the result is 8. What would be the
reault if 2 is subiracted from the number and then it iz divided by & 7

{al a% (B 10 (@ 10 ) 11% (@ Noub of these
i

{Bank PO. 2000}
8. If one-Lhird of one-fourth of a number is 15, then three-tenth of that number is :

(a} 45 (b1 84 il 45 (d) o4
(M.IF.T. 2003)
4. A number is doubled and 9 iz added. If the resultant is trebled, it becomes 76, What
iz that number ? (8.5.C. 1999)
&l 3.5 LBk & ich 8 {d? Mone ofthese

6. Three-fourth of a number i 80 more than its one-third, The aumber is :
(ah 84 (B 108 (ch 144 {di Wone of theas

6. When 24 i& subtracted from 2 number, it reduees to its four-seventh. What is the sum
of the digits of that number ?

(@) 1 (b 9 (& 11
(i Data inadequate (¢} None of these
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Find the number which when multiplied by 15 iz incrensed by 196. (L.1.C. 2003)

(a) 14 by 20 {ch 26 idi 28
If & number, when divided by 4, is reduced by 21, the number iz -
(a) 18 il 20 (o} 28 id) 38

A number whose fifth part increased by 4 is equal Lo its fourth part diminished by
10, is :
al 240 ib] 260 (e 290 (d) 3RO

- The difforence of two numbers is 20% of the larger number. If the amaller number is

12, the larger one is

(a} 15 ; b 186 (¢} 18 (d 20

[f one-seventh of & number exceeds its eleventh part by 100, then the number is :
(@) 770 (B} 11KD l¢] 18256 (db 1925

If the sum of one-half and sne-fifth of a number cxomods one-third of that ausnbir by
?%. Bl 1™ (C.B.I. 1998)
fak 15 (bl 18 (el 20 () 30

If doubling & number and adding 20 to the result gives the same answer ns multipl¥ing
the number by 8 and taking away 4 from the produact, the number is :

(@) 2 b 3 {ch 4 (d} &

(5.5.C. 2000}
If 50 is subtracted from two-third of & number, the result is equal to sum of 40 and
usne-fourth of that number. What is the numbesr 7 (H.R.B. 2002)
(2l 174 Lhy 216 {c) 246 (di 3386
If the sum of & number and its square is 182, what is the number ?
(a) 15 (b 25 {ch 28 (d) 01 {&l None of these

(Bank PO. 1999)
Twenty times a positive intager i less than (18 square by 96. What is the integer ?

{a) 20 b 24 fer 30
{d} Cannot be determined {¢l Hone of these (Bank PO, 2003)
Thrice the square of a natural number decreased by 4 times the number is equal ta
0 more than the number. The number is : (B.B.C. 2003)
Lal 4 b 5 {ct B (dh 10
The sum of & number and it= reciprocal is ane-eighth of 34. What is tho product of
the number and its square root 7 {(Hotel Management, 2001)
(a) & (b 27 (c) 32 [d} Mone of these
Two-third of a pogitive number and ﬁ% of its reciprecal are equal, The number is -
(&) 1;; (b % [ ]i‘; L) ]:_:

(8.8.C. 19949)
Find a positive number which when increased by 17 is equal to 60 times the reciprocal
of the number, (LM.T. 2002)
(al 3 (B 10 (e} 17 (d) 20

A positive number when decreased by 4 is equal to 21 times the reciproeal of the
aumber, The number s -
ta) 3 (k) & () 7 () &
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81.

The aum of a pesitive number and its rociprocal ie thrice the difference of thi: number
and its reciprocal. The number is
1 1

(a) o2 ® = () 3 d =

The product of two natural numbers is 17. Then, the sum of the reciprocals of their
II:[I:I.-.I'H 18 3 {E.S-E. IMJ

1 2539 2540
(&l A8 (B} 90 e pr™ (d} Z85

HE% i ;ddﬁdmummhrmdthnaummullipliudhyd% and 3 iz added to the

product and then dividing the sum by 1%, the quolient becomes 25, What is the

1 1 i 1
e 1= - -
(&} 22 (b 2 {ch *12 () 53

Three numbers are in the ratio 4 : 5 : 6 and their average is 26, The largest number
b :

La) 30 (b) 32 () 38 d] 42

. Three numbers are in the ratio of 3 : 4 : 6 and their produet is 1944, The largest af

thess numbers iz :
{a) & (b 12 {cl 18 id) None of these

Two numbers are such that the square of one is 224 lees than § times the square of
the other, If the numbers be in the ratio of 3 : 4, the sumbers are :

{al 6, 8 (k) 9, 12 {c 12, 16 i(dy None of these

Two numbers are such that the ratio between them iz 4 ¢ 7. If each is increazed by
4, the ratie becomes 3 © 5. The larger number is !

(a) 38 (L) 48 [ch 56 lal) B4

The surn of three numbers iz 284 If the first number be twice the second and third
number be one-third of the first, then the second mumber is (ER.B. 2004}
{a)} 48 (b) 54 (ch T2 (o) B4

The sum of two numbers is 22. Five times one number iz equal to 6 times the other.
The bhigger of the twe numbers is : (C.B.1. 1998)
{a) 10 (b1 12 {cr 15 (d) 16

Ome-fifth of 8 number is equal to E of another number. If 35 is added to the first
number, it becomes four times of the second number, The second pumber is @

(a) 25 (b} 40 (c} 7O i 125

(Bank PO. 1989)

The sum of two numbers iz 25 and their difference 1¢ 13. Find their product.
ia) 104 (by 114 {c) 315 (d) 325

(L.1.C. 2003)
If the sum of two numbers i= 33 and their difference is 15, the smaller nomber is @
(&) 9 (B 12 (c* 15 {d) 18

{C.B.1. 1987)
The surn of two oumbers 15 40 and their difference is 4, The ratio of the numbers is
(2) 11:9 (b 11 : 18 &Il 19 (d) 22:9

(5.5.C. 2000)
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The product of two numbers i= 182 and the sum of these two numbers is 28 What

is the smaller of these two numbers ? (Bank PO. 1999)
(a) 12 by 14 el 16 (d) 18 (et Nome of these
The difference between two integers is 5. Their product is 500. Find the numbers.
(&) 15, 20 (b} 20, 25 {cl 30, 25 (d) 21, 26

(Hotel Management, 2003)

Two numbers differ by 5, If their product is 336, then the sum of the twoe numbers i -
{ad 21 (b 28 (ch 27 id) 61

(8.8.C. 1988)

Two different natural numbers are such that their product iz less than their sum. One
of the numbers must be :

(a2 1 (b & el 3 [d) None of these

. The product of two numbers is 9375 and the quotient, when the larger one is divided
by the smaller, is 15. The sum of the numbers is (8.5.C. 2004)
Lal 380 (B) 395 {c) 400 idi 425

The difference botween two numbers iz 1365 When the larger number is divided by
the smaller one, the quotient is 6 and the remainder is 15. The smaller namber is -

(&) 240 {3 270 [ch 2935 {dh 360

The gum of two numbers is 40 and their produect is 375, What will be the sum of their

reciprocals 7 (8.5.C. 1999)
1 A T Ta

I[a) 0 b =5 e o () 3

The sum of two positive integers multiplied by the bigger number is 204, and their
difference multiplied by the smaller number is 35. The numbers arg -

(a) 12, 5 (b} 13, 4 (e 14, 2 {d) 24, 10

If the swm and difference of two numbers are 20 and 8 respectively, then the difference
of their squares is (5.5.C. 2D0O0)
(a) 12 (b) 28 e 160 (d) 180

The product of two numbers is 120 and the sum of their squares 15 289, The sum of
the numbers is : (BR.H.B, 2004)
la) 20 (B) 23 {cl 169 id) None of these
The product of two numbers is 45 and the sum of their squares iz 106, The numbers
are ! (R.R.B. 2002)
(@) 3 and 5 {B) 5 and O (el 5 and 19 (d) 45 and 1

The sum of the squares of two numbers is 3341 and the difference of their squares
is 831, The numbers are :

(al 25, 36 (b} 26, 46 (e} 35, 48 d} None of these
The difference between two posilive infegers is 3. If the sum of their squares is 369,
then the sum of the numbers is : (8.8.C. 2008)
(&) 25 by 27 {ch 33 idh 81

If the sum of two numbers is 22 and the sum of their sguares is 404, then the product
of the numbers is : (8.8.C. 2000)
(g} 40 (b 44 (gl B0 id) 88

The difference between the squares of two numbers is 266000 and the sum of the
numbers is 1000, The numbers are :

[a) G0, 400 (b} 628, 372 Lch G40, 360 id) Mone of these
If the difference of two numbers is 3 and the difference of their squares iz 39, then
the larger number is :

(2] § (b 9 (el 12 {d)} 13
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The sum of three consecutive numbers is 87, The greatest among these thres numbers
i% (Hotel Management, 2003)
{a) 26 () 28 (g} 298 iy 30
Three times the first of three consecutive odd integers is 3 mere than twice the third.
The third integer is : (M.B.A. 1888)
(a) 8 by 11 (e 13 (d¥ 15
The sum «f four consecutive even integers is 1284. The greatest of them s !
La) 320 (b} 322 (ch 324 (d) A2u

(8.5.C. 2002)
The sum of three consecutive odd numbers is 20 more than the first of these numbare.
What iz the middle number * (8.B.1L.PO. 1997)
(a} 7 (b 9 (e 11
(d} Data inadequate (&) None of these
The product of three congecutive ¢ven numbsers when divided by 8 is 720, The product
of their square roots is - (Hotel Management, 2001)
(=) 12410 (B) 24+/10 () 120 () None of these
The sum of thres consecutive multiples of 3 is 72. What is the largest number ¥
=k 21 (B 24 {cl 27 (d) 36

i(5.8.C. 19589)
What is the sum of bwo consecutive even numbers, the difference of whose squares is
B4 7 {8.5.C. 2003}
(&) 34 (b 348 (&) 42 (d) 46
The sutn of the squares of thre consecutive natural numbers ia 2030, What iz the
middle number ? (8.5.C. 2000}
[(a) 25 (b} 28 (b 27 (dy 28
There are two numbers such that the sum of twice the first and thrice the second is

38, while the sum of thrice the first and twica the second is 36, The larger of the two
is :
{a) & (b B (e) 8 (d) 18

In & two-digit number, the digit in the unit’s place is four times the digit in tan's place
and sum of the digits is equal to 10. What is the number ? (Bank B0, 15539)
(a) 14 (i 41 () B2

(d) Data inmdeguaie (¢} None of these

A number of two digits has 3 for its unit’s digit, and the sum of digits s % of the
number itself. The number is : (L1.C. 2003)
(a) 43 (b 53 le) 63 (dl T3.

. A two-digit number exceeds the sum of the digits of that number by 18. If the digit

at the unil's place is double the digit in the ten’s place, what is the number ?

(a) 24 (b) 42 i) 48 () Dhata inadequate
The suen of the digits of 3 two-digit number is 15 and the difference between the digits
iz 3. What iz the two-digit number ? (B.5.B.B. 2003)
{a) G2 (b) TH (el 96

(dh Cannot be determined i@ Naone of theso

In a two-digit number, if it is known that its unit's digit pxceeds its ten's digit by 2

and that the product of the given number and the sum of its digits is equal to 144,
then the number is : (C.B.1. 2003)
{a) 24 b 28 (et 42 (d) 46
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A number consists of two digits. If the digits interchange places and the new number
is added to the original number, then the resulting number will be divisible by

(a} 3 (b & o {(d) 11

(5.5.C. 2003)
The sum of the digits of a two-digit number iz 9 less than the number Which of the
following digits is at unit’s place of the number ?
fa) 1 (b} 2 {ck 4 {d} Dats mademqaats

The difference belween & two-digit number and the number obtained by interchanging
the positions of ite digits is 36. What is the difference betwesn the tweo digits of that

number 7 (Bank PO. 2003)
fa) & [ 4 ch 9
() Cannot be determined (&) Mone of these

The difference between a two-digit number and the number obtained by inlerchanging
the twa digils is 63. Which is the smaller of the twe numbers 7 (Bank PO. 2003)

(a} 29 {6} TO ) B8
(d) Cannot be determined {#) Mone of thess,

1
The sum of the digits of 2 two-digit number is 5 of the difference between the number
and the number oblained by interehanging the pesitions of the digits. What is definitely

the difference between the digits of that number 7 (Bank PO. 2000)
{a) & {hy 7 {c) &
(d) Data inadeguate ¢ Mome of these

[f the digit in the vnit's place of a two-digit number is halved and the digit in the ten's
place is doubled, the number thus oblained is equal to the number cbtained by
interchanging the digits. Which of the following iz definitely true ? (Bank PO, 2003)

(8) Sum of the digits is a two-digil number.

(b9 Digit in the unit's place is twice the digit in the ten's place.
le) Tigits in the unit's place and the ten's place are equal,

I Digit in the unit's place is half of the digit in the ten's place.
(20 Mone of thesa

If the number obtained on interchanging the digits of a two-digit number is 18 more
than the original number and the sum of the digits is 8, then what is the original

numbear 7 ({8.B.1.PO. 2002)
{a) 26 (a5 (ch B3
() Cannot be determined (ed Naone af these

The difference between a two-digit number and the number obtained by interchanging
the digits is 36. What is the difference betwesn the sum and the difference of the digits
of the number if the ralio between the digits of the number is 1 : 2 7 (M.AT 1999)

(a) 4 b 8 ic) 16 {dl Mone of these

A number consists of 3 digits whose sum is 10. The middle digit is squal to the sum
of the other two and the number will be increased by 29 if its digits are reversed. The
number is : [Hotel Management, 2008}

(o) 145 (b 253 (ch 350 (d) 352

A twe-digit number becomes five-sixih of itself when its digits are reversed. The two
digits differ by one. The number i= -

(&) 45 (b} 54 (o) A6 (d) GG
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A number consists of two digits such that the digit in the ten's place i3 less by 2 than

the digit im the unit's plase. Three limes the number added 1o % times the number
obtained by reversing the digits equals 108, The sum of the digits in the momber is :
(&) 6 7 icl 8 (d) 8

(5.5.C. 2003)
The digit in the unit’s place of a number i& equal to the digit in the ten's place of half
of that number and the digit in the ten's place of that number is less than the digit
in unit’s place of half of the number by 1. If the sum of the digits of the number is

T, then what s the number ? (8. B.IPO. 2001)
fa) 34 (b} 52 ch 182
idt Data inadequate ie) None of thess

In a two-digit number, the digit in the unit's place is more than twice the digit in ten's
place by 1. If the digits in the unit's place and the ten's place are interchanged,
difference between the newly formed number and the eriginal number k= bese than the

original number by 1. What is the original number ? {Bank PO. 18%9)
fal 25 I (¢l 48 {d) G2 (e 73

. A certain aumber of two digits is three times the sum of its digita and if 45 be added
to ik, the digits are reversed. The number is {LLC.AA.D, 2003)
(u) 23 (b 27 {ch 32 () T2
A two-digit number i such that the product of the digits is 8 When 18 is added to
the number, then the digits are reversed. The number is ; (M.B.A. 2003)
{a) 18 (b 24 (et 42 {d) &1

The product af twa fractions is :._: and their quoticnt is E . The greater fraction is :
&

1 7 7 7
[a) 5 (& 7 [ch ] ) 3
(B.5.C. 2002)
In a pair of fractions, fraction A is twice the fraction B and the product of two fractions
is == What is the value of fraction A 7 (Bank RO, 1999)
1 1 2 .
(a) B (B FT (el 5 [} [haba inmdguate

The sum of the nomerater and denominator of a fraction ia 11, If 1 is added io the
numerator and 2 ia sublracted from the denominator, it becomes % The fraction is :

5 & 3 -]
{a) ry ik B (] ] {dl 3

The denominatar of a fraction is 3 more than the numerator, [f the numerator az well

as the denominator is increased by 4, the fraction becomes % What was the original

fraction ? (8B 1RO, 1888)
B 5 10 7
{ar] T (F] 2 (c) T [ 10

The difference between the numerator and the denominator of a fracton 8 5. IF 5 is
added to its denominator, the fraction is decreased by '-I%. Find the value of the fraction,

1 1 1
lal - (b ‘1; Ll 3-‘-1' (d) 6

-]
(M. B.A. 1887)
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The numerator and denominator of a fraction are in the ratio of 2 : 3. I 6 is subtracted

from the numerator, the result iz & fraction that has a value § of the ariginal fraction.

The numerater of the original fraction is (5.5.0. 1998)
(a) G (b 18 {ch 27 (di 36

If 1 is added to the denominator of & fmﬂun,ﬂmfrnpﬁpnm% If 1 is added to
the numerator of the frection, the fraction becomes 1. The fraction is ; (Q.B.I. 1997)

1 F 3 2
(@) 3 thh (e 3 (d 2
If the numerator of a fraclion is increased by 2 and the denominator is increased by

T
4, the fraction becomes E and if both the numernior as well a5 the denominater are

decreased by 1, the fraction becomes % What iz the erginal fraction 7

5 9 13 17
i) 5 (bl Ty i) 16 (ef) 1
{B.H.ILEPO. 1868)

When the numerator of & fraction increnses by 4, the fraction ncreases by % The

denominator of the fraction is -

{a) 2 (i) & iel 4 (d: &

54 is to be divided into two parts s.ch that the sum of 10 times the first and 22 times
the second is TS0, The bigger part is :

{a) 24 (B 34 Ll S () 32

243 has been divided into three parts such that half of the first part, one-third of the
second part and one-fourth of the third part are equal. The largest part is

(m) T4 (b} BB (¢} 22 {d) 108

The sum of four numbers iz 64, If you add 3 to the first number, 3 is subtracted from
the second number, the third is multiplied by 3 and the fourth is divided by 3, then
all the results are equal. What is the differeace betweon the largest and the smallest

of the original aumbers 7 (5.B.LEO. 2000)
&) 21 (b 27 () 32
{d) Cannot be determined (gl Mone of thess

92. The sum of the squares of three numbers is 138, while the sum of their products taken
two at a time is 131, Their sum is : (Hotel Management, 1999)
(a) 20 (b) 30 () 40 (e} Mome of theso

8. The sum of three numbers is 136. IT the ratio between first and second be 2 ¢ 3 and
that between second and third is 5 : 3, then the second number is :
(a} 40 (b) 48 () 60 (d) 72

84. Of the three numbers, the sum of the first two is 45; the sum of the second and the
third is 55 and the sum of the third and thrice the first iz 90, The third aumber is :
(@) 20 (b} 25 (e} A0 (d} 3

ANSWERS

Lig "2 & 410 6@ 6@ T 8 6 (d

10. fa] 11 {d} 12 (& 18. (¢ 14 (b} 156 (= 14 (B 17.(K 14 (a2
10. (a) 20, (2] 21 () 22 (a) 23 (0 24.(b) 28 (z) 26.(d 2T ()
48, (b 29 (0 30. (b} 31 (b 32 (b} 33 (=) 54. (a) 35 (s) 38 (B
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47 (¢ BB [a) 39 (a0 40. (B 41 (k) 42 (a) 48. (2 44 (0 46 (b
46. (&) 47.(B) 4B ia) 49 (W BO. (&) OB id} &2 (dd B3. (ch 64 (D)
BB. (b} 658 (¢ 67.(0 68 (b B9.(c 860 (& 8Li{c 62 (2) 63 (d
84, (a) €5 |d) 66 (d ©7.(& 68 i(d & (4 TO. (W TL (K TZ (b
7. (b} T4 (B} T6.(a) T (B TI. (b TE (B TE. (W 80 (b 81 (g
82 (& B3, (ay B4 (b B85 (b) S6 (b 8T (a) 88 (dh 89 (K 90 (d
o1 (¢ 92 (a) 93 (c) B4 (o

1n.

B

14.

B0 x G

L.Etthanum'barhEIﬁr-ﬂ.I—'—;I=5ﬂﬁ %:-Eﬂd—r x=[ ]-ll'..!li

l.ﬂtlhﬂnumhm'l!l&.h‘.Th.E]Lx.‘i—E = r-d =48 = x = 52
1—1:5_2-'2_ E:'.I'L‘r.
B 5 5

Let the numherbax.fhun,%ui’i—nfz:lﬁ e x=15%x12 = 180

Bo, required number = [T-IE .r.IR-EI] = 54,

Lot the numbsr be x Then, 3 (2x+ 9 = Ti e 2x + 9 =26 &2 2x = 16 &= ¥ = B

l.etthenmuherbsx'l'hu_%x—;:lm = ]—E:Z-EEI ter ;=[Eﬂ-xlﬂ

].tm.

Lel the number be ¥ Then,
24x7

xvﬂ-.%:;::—%.t-ﬂ-i;—!aﬂu:-{ ]aﬁ-ﬁ.
7

Sum of the digits = (§ + 6) = 11.
Let the number be x Then, 1Axr = ¥ = 198 &= ldxy= 158 = x= 14

L-,-tﬂtenumhe-rhex_'l‘hm,f-.t—:!'l e xmdr-B4 e 3xr=-B81 & x=128

Let the numbsr e = Then, {%,’c-ﬂl‘!=[%:—1] =3 :dﬂlil = 2= 14 x50 = 280,
LS !

Lot the larger aumboer be x

4z 12x 5

Then, x =12 = 3% of r = 1—%..]2 - = =18 = _-_.[__‘ ]-1&

Lmtlhtnumhum:ﬁun._—i;-—%.t;lnﬂ =3 4—;-1@ = :-Tm-‘jﬂzﬁ.
[
Lot the nomibor b x.
1 1 5 | 2 11z Fr'd 23 =30
Th = = | == = — = = | —— | = 20,
Eﬂ,[ﬂrlﬁx] 3:: 3 L] a0 3 = X [3111}
Let the number be x. Then, 2x+ 20 = 8x -4 & Gx=24 = x=4.
Let the number be x :
'I'h-ﬂn,.gx-'ﬁﬂ—%.:ﬁ-ﬂh%I—%.\:-‘E"D“E-Eﬁhx-[m—-——;la]—il'ﬁ.
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Quantitative Aptitude

. Let the number be x

Then, x+ 2 =162 & P +x-182=0 & [(r+ Mix-13 =0 = x=13

18. Let the integer be x©

17.

18,

Z1.

Then, ¥ —20x=96 e P - 20x-96=0 w (x+4ilx—24) =0 &= =24

Let the number bhe x

Then, 32 - dxw x+ 50 = 822 -53-50=-0 = (@Bx+10)(x—-51=0 = x=85
1_ 34 2+l M

L&t the number be x Then, x4+ = = - i o B —JMe+8 =0
x B I &

= 4 - 1Tx+d=0 = dx—J)lix—dl=0 = =4

. | .
[T:lgli:’r.mg x= g as x & o natural ne.

Required number = 4% 4 = 4x2 = &,
L&t the number be x

2 25 1 % 3 2% 25 5
T]].H:,—.‘.l:l--—iti- E =1 !--— = = — R —
3 TIE " x el TR R T it £V R T

Let the number be s
Tl'"m,-:*lT-% = FelT5-00=0 s (x+20)(x-H =0 m xwd
Lt the number be x

Thm..l.'"l=ﬂ—: =3 .E:—-!-:—El:u = (r-MNir+P=0 &= =T

lﬂ&mnumhﬁrht'rhm1+-l=3[r—i} o3 41 = 3[:2_]]
x x x x

o fi1=90"-3 &= -4 = 2=2 = xa=493
ldtihtnumb:nh::.andb.']’hen..&:]? = a=1land b= 1T

30,. 1 i 1-.!!:E 1[1??_@
Ldtmanumharhax.’[hn,

41[:131]lﬂ E.1:+i +4
2 2 2 ) -
. =3 o = 25
ies L
5 ]
Qe 45 é = ET br 63
u-—'-—l-.:]— W o _—= FR—— —_—= —
TREFT ekt S e
88 21 7 1
B I T |—N—=m == =
[T3)-1:%
4z + Gz + fx
Lat.thnnumbeubth;ﬁrmdﬁs.ﬁm,Trﬂﬁ o fr =25 m xw=f

< Largest number = Gxr = 30,
Let the numbers be 3x, 4x and 6x
Then, Sx x dx » Bx = 1944 & 7257 = 1044 o ﬂ-n = x=13
Largest number = Bx = 18
Let the numbers be 3x and 4% Then,
aP m BEx(3xP - 204 & 16722 - 724 = G2 =224 o F =g = x=2
8o, the numbers are & and &.
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28 Let the nuombers be 4x and Ty Then, e Gldx=4)=3(Tr+4) & x=8

dx+4 3
Tx+4 8§
Larger number = Tx = 56.

. Lot the second number be ¥ Then, firet number = 2x and third number = %

211;*%—354 = E—EH L I—[m::a

= T
; |-

30, Let the numbers be x and (22 — ), Then, Sx =6 (22 — x) = 1lx= 132 = x= 12
S0, the pumbers are 12 and 10

&
1. Letl:henumbeﬂhe:and_?.'l‘hm,;rl =E_1-' - ym —=x
¥

A 26
T 35 x 28
Hw.:#Midju:fEElg—::-Extﬂﬁmr={ - ]-Iﬂ&

8 B
Becond nmhr-jd—ri[—ﬂiﬁ}:ll].
i 25 25

32. Let the numbers be x and v, Then, x + ¢ = 25 and x= 7= 13.
dom(x+ ¥ —(x— ¥R =(257 - (137 = G35 — 169 = 466 = xy = 114.

33. Let the mombers be x and ¥
Then, ¥ + y= 33 A and x—w= 15 warkA)
Bolving (i} and {ii), we get : x = 24, y =9,

Smaller number = &,

4. Let the mombers be x and . Then,
i L ST WS T G T RS ey skt | A
x—F 4

35, Let the numbers be x and (28 — &, Then,
x(28 -1 = 102 o 2 -28x+ 1020 = (x-18)(x—12)=0

= x=16orx= 13

1
i

< | H

S0, the numbers are 16 and 12

36. Let the integers be x and (x + 5). Then,
Klx+ 5 =800 & X iEbx-G6=0 = [(x+25)(x-200=0 = x=20.
5o, the numbers are 20 and 25.

37. Lat the aumbers be x and . Then, x - ¥ = 5 and xy = 336

(x4 P eix=p + 4y =25+ 4 % 3365 = 1360 = zx+¥ = 41369 = 37.
38, Since l.x < 1 + x o one of the numbers iz 1.

39. Let the numbers be x and y. M.q-mmmi-m

o IS L = ¥ =62 = y=25 = x-15r-(15x 26 = ¥75.
x/y) 15
Sum of the numbers = 3756 + 25 = 404.
40. Let the numbers be x and (x + 1385).
Then, x + 1365 = 6x+ 15 «= Sx= 1350 = x= 2T
41, Let the numbers be x and y Then, x + ¥ = 40 and xy = 376,
p I | T+Y _ 40 8

—_—t — = =l
E I xy aTe  TH
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17,

51.

Quantitative Aptitude

Let the numbers be x and y such that x > » Then,
x(x+ =204 = L+p=204 . (Nandyix-W=35 = x-¥=38 _d
Subtracting (i) from (i), we get ; &* + 3@ = 188,
The only triplet satisfying this condition is (12, 5, 13). Thus, x = 12, y = 4.
Let the numbers be x and 3 Then, x + v = 2 and x - 5 = #,
P =i(rs+pix—y=20x8 = 160,
Let the numbers be x and ¥ Then, a¢ = 120 and 22 + 3 = 289,
ix+ ¥ =2+ + 2yy = 2689 + 240 = 529,
z+y = J529 = 23,
Let the numbers be x and y Then, xy = 45 and 22 = 3 = 106,

(x+yt= gltxz+:ﬂ]+2:|;r =Jinﬁfm=uﬁ - i+F= 14 LA
{I—j}=-‘lf.l't+_'g’?]—il}' -—Jlﬂﬁ-—m = Jﬁ - I-y =i L EF}

Solving (i) and (i), we get : x = 9 and y = &
Lel the siumbers be x and » Then,
PR LR L) and o = 3 = 891 i)
Adding ({) and (i), we get : 222 = 4332 or & = 2116 or ¥ = 46.
Subtracting (i) from (0, we get ; 2v¥ = 2450 or @ = 1395 or y = 35,
Sa, the numbers are 356 and 46.
Let the numbers be x and (x + 3). Then,
£+(x+3F =360 & 2+ +9+ 6x= 369
= 27 +6x-380 =0 =» F+Ax-180=0 o (¥x+ 15 ix=12 =0 & x=12
So, the numbers are 12 and 15.
Required sum = (12 + 15) = 27.
Let the numbers be x and ¥ Then, (x+ ¥ = 22 and 2% + @ = 404,
Now Zxp = (x4 9% = (2 + 7)) = (227 — 404 = 484 - 40M = 80 = @ = 40,
Let the numbers be x and g Then, 5 - 3* = 256000 and x + 3 = 1000,
On dividing, we get © x = ¥ = 256,
Solving x + y = 1000 and x — vy = 256, we get : x = 628 and v = 372
Let the numbers be x and . Then, 2" - ¥ =0 and x - y= 3.
On dividing, we get * ¥+ y= 13,
Splving x+ y= 18 and x = y= 3, we get : x= 8 and y= §,
5 Larger number = A,
Lot the numbers be r ¥ + 1 ond &+ 2
Then, x+(x+ 1l +ix+ Z) =87 = dx=84 = x= 2§
Greatest number = (x + 2] = 30

. Lot the three integerz be x, x + 2 and ¥+ 4. Then, 3x =2 (x + 4} +3 &= x=1L

Third integer = x + 4 = 15,

. Lat the four integers be & ¥+ 2, x + 4 and x + 6

Then, ¥+ (2 + 2 + (e + d) + {x + G = 1254 o= 4y = 1272 = x= 318,
Grentest integer = x + 6 = 334,

Let the numbers be &, x + 2 and x + 4.

Then, ¥+ (2+ X+ (xr+ 4= x+ W &= Zyx= 14 &= x=7,
Middle number = x + 2 = &,
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66. Let the numbers be x, x + 2 and x + 4.

&T.

G1.

{
Then, W =790 = £ir+2(x+4) = 5760

Vix Jae2 = flx=dl = Jxix+2ix+4) = 5760 = 24,10,
Let the numbers be 3z 3x + 3 and 3x + 6.
Then, 3x + (Bx + 3) + (Ax+ @) = T2 = Gx =63 & x= T
& Largest number = 3x + 8 = 27,
Let the muombers be x ond x # 2.
Then, (x+ 2P = ¥ = B4 & dxr+d =84 = 4dr=R0 & x=120
S Hegquired gum = x + (x+ 2} = 8x+ 2 = 42,
Let the numbers be x x+ 1 and x + 2,
Then, o +(x+ 1F +(x+ 2P = 2080 & 3x + By - 2005 = 0
= L+3x-8T6b=0 = (x+2N(x-2B)=0 = x= 25
o Middle number = (x + 1) = 26
Let the numbers be x and . Then, 2x + 3p = 39 i) and 3x + 2y = 36 ..{id)
ﬂnmh’ing (1) amvd (40, we gl ; x =8 und F= =
& Larger namber = 0,
Let the ten's dygnts b x Then, unit's r'f'igit =4x
X+dxr=10 &= S5x=10 ¢ x=2
S0, tens digit = 2, unil's digit = 8§
Henes, the required number iz Z8,
Let the ten's digit be x Then, number = 10x + 3 and sum of digits = {x + 3L

ﬂu,[t-i-S:I:%l".lﬂr—E'l = Tr+?]l = 10r+3 += 3x= 1B = X = B
Henes, the number 15 63

. Lpt the ten's digit be x Then, unit’s digit - 2x

Number = 10x + 2x = 125 Sum of digits = x + 2x = 8x
o 1lEr-3x=18 = Bx=18 & x=2
Hence, reguired number = 13x = 24,
Let the ten's digit be x and unit’s digit be »
Then, ¥+ ¥= 16 and x= ym 3 or y=x= 3.
Solving x+y= 16and x - y= 3, we get : x= 8, y= B,
Bolving x ¢ y= 15 and y = x=3, weget : x= 8, yu 8.
So, the number is cither 96 ar 69. Henee, the number eonnot be dotormined.
Let the ten's digit be x Then, unit's digit = x + 2.
Number = 10x + (x+ 2y = 11x + Z; Sum of dipils = x + (x+ 2) = Zxr+ 2.
(1ly+ 2)(2xr+ 2 =144 ¢» 225 + Wx— 140 =0 & 11 + 13x-T0 = 0
= (x-04{1Ix+ o= = x= L
Hence, required numbor = 11x & 2 = 24 :
Let the ten's digit be x and wnit’s digit be ». Then, oumber = 10x + ¥
Number obtained by interchanging the digits = 10y + x
(10x + ¥ + (10¥ + 2 = 11 {x + 3}, which s divisible by 11
Let the ten’s digit be x and unit’s digit be 3 Then, (10x + ¥ —(x+ =P op x = 1.
From thiz data, we cannot find » the unit's digit. Se, the data is madequate.



176

T4.

Cuantitative “Aplilude

Let the ten's digit be x and units digit be »
Then, (I0x+ ¥ = (My + x) =36 ¢ H(x=3i=36 = x-y=4
Let the ten's digit be x and unit’s digit be »
Then, (10x 4 3 = {10y + x) =63 = Six=9P =63 = x—y= T
Thus, none of the numbers can be determmined.
Lot the tens digit be x and units digit be »

‘I1nn,:+;--%1’l;!nr+y}- (0¥ +x)] &= Br+Bym9x=-89 o= 4z = My

Thus, the value of [x — ¥ cannot be determined from the given data.
Let the ten's digit be x and umit’s dagat be »

Then, lﬂxﬂt+%yrlﬂ:r4x o Eﬂr-:nlﬂ_}'—% = 15-:-%_1.- o y = B,

Thus, the unit's digit is twice the ten's digit.
Let ten's digit = x Then, unit's digil = (8 — x).

[0 -+ -[10x+(B-2=18 = JBr=Ff = x=1
Ba, ten's digit = 3 and unit's digit = 5. Henee, eriginal number = 35.
Since the number is greater than the number oblained on reversing the digits, 2o the
ten's digit is greater than the unit's digit.
Lat the ten's and unit’s digits be 2x and x respectively
Then, (10 x 2x+ 0 = (10x+ 2x) =36 & Bx=36 &= x»= 4

Reguired difference = (2x + 1) = (2x - ¥} = Ex =5
Let the middle digit be x. Then, 2x = 10 or x = 5. So, the number iz either 253 or 352
Binee the number increases on reversing the digits, so the hundred's digit is smaller
than the unit’s digit. Hence, required number = 253,
Sinee the number reduces on reversing the digits, eo ten's digit is greater than the
unit's digit.
Let the umit's dignt be = Then, ten's digit = {x + 1L

10z +(x+1) = .;lrm{“ 1+x] e BBx+B=552+50 o 1lx = 44 &= x = 4.

Hence, required number = 54.
Let the unit's digit be x Then, ten’s digit = (x - 21

3[]D{:—3}+1]+%[101+l:~21l = 104

o Tiz-420 +66x - 12=-T66 &= I97x=11E8 &= x=4.
Hence, sum of the digits = x+ (x =2 = 2x- 2= 6.

Let the ten's digit be x and units digit be . Then, m“—;a‘i 10y +(x+ 1}

e W0z y=207+2x+2 o Bx-18y=-2 .(dandx+y=T _.Li)
Solving, (i) and (fi), we get : x = 5, y= 2. Hence, required number = 52.
Let the ten's digit be = Then, unit's digit = Zx + 1.
[10x + (2% + 1)) — ({10 (2x + 1} + o = (Q0x + (Zx + 1}l = 1
o (12x4+1)-[Ox+ ) =1 &4 JIx=l &= x=3
Sg, ten's digit = 3 and unit's digit = 7. Henee, original number = 7.
Let the ten's digit be x ond unit’s digat be v
Then, 10x+ y= J{x+ ¥ = Tx-3y=0 v 0
N+ y+d5=10y+ x = F=-x=5 1]
Solving (i) and (if), we get : x = 2 and y = 7.
Required mamber = 27.
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Bl1.

B
Lat the ten's and units digit be x and 1y respectively

Then, [mnﬂ.-m-: J.ﬂ:-:§+: e 102" 48+ 18z = 80+ <7

&= S lBr-T2=0 & R+ -8=0 & F+Hx-V=0 & =2
5o, ten's digit = 2 and unit’s digit = 4. Henee, required number = 24.

L&k the two fractions be 2 and b. Then, mb-:;nnd:—-g.
ﬂh -I:E“E] — ¥ - E = b.i 'I:lt"- !'_‘I: — u-[ljx.ﬁ_\l‘il.
o/l 18" 35 25 5 15 15°4)" ®

R |
Since & > b, so greater fraction is 3

1 P y g g 4 )
Azl = B=z==A S, Az — m =A"2z— = A2 — = A=® =,
i = " 2 25 25 R
Let the fraction be —. Then, x + ¥ = 11 i)
! ¥
”]2=§ = A(z+1)=2(y-2 = Bx-2y==T i)
J"-

Belving (2) and (f), we get : x = 3 and 7= B, So, the fraction is %

Let the numerator b= x Then, denominmater = x + 3.

““-ﬁ'% o Blx+dl=dlz+D = z=8

The fraction 1= %.

Lot the depominator be = Then, numerator = x + 3.

z+D x+3 O E+d 'E+1-E-El.

MNow, =
] ¥x+5 4 x 4 4 4

So, the fraction is z%_

. 2r Zx-6 2 2r  2r=6 4x '
I.ntth.uﬁ'-m:mh-gﬁ. Then, ST T S =Eﬁlﬂxﬂ—ﬁlx-lﬂxz

£ 'E.:!-;'H-;l; e oxow= B
Henee, numerator of ibe original fraction = 2x = 1.

hlm&nﬂimhi-'l‘hm.

1
N = Ody-y =] ...{i]md—-—r‘ =] = r-y=-1 _.u
¥y+1 12 ¥

Solving (i} and (i), we get : x= 2, ¥ 5 3. Hence, the required fraction i:%.

Lt the fraction be ;'I‘l:m

x+2 7 3 -1 4 4
e By—Ty w 5" HISRE IS e 2% VL a7
yu B 1Pt - ; ¥aln: O %) e
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Qeantiaive Aptiade

Solving (1) and (i), we get = x = 5, y= 6. Heoee, the original (raction is E-

= = j-'lrlllﬂ&.l'=5.

:
3 , 2]

r+d4d =x 2
-— = S

4
Yy ¥y 2. 2

Let the fraction be i Then,

& Denominator = &,

Let the two parts be (64 = &) and x

Then, 10 (64 = £} + 22x = T80 o= 12x= 240 = x= 20,

o DBigger part = (54 = X = M,

Let the three parts be A, B and C.

Lr.-t%-%-%-:.T]un,ﬁ-i‘.r,ﬂ-ﬁ:mdﬂ:-!x-Eﬂ.ﬁ.:B:ﬂ"E::izd-
40

- L:lrgtulp:ui:(il.‘]na = 108.

4

D
l.-aLmurwrmmbwshﬂ.lﬂunﬂnfatelﬂrﬂ:E—E—-EE-; =
Thl:n..&::—3,5::+3,ﬂ=%andn—::|:.

A+B+CaD = 64 = q;-31+¢1.33.f‘_j+3.r=m

= E:H-%-!H m 18 = 198 = x =12

Thus, the numbers are ¥, 15, 4 and 36.
Required difference = (36 - 41 = 32

Let the numbers be &, & and ¢ Then, 87 + & + & = 138 and (ab + be + ca) = 130
(a+b+efF gt s ae s Ziab+bo+cal =188 +2 = 131 = 400

= (a+bsec) = 400 = 20,

ﬁ;HT!.;::Hnnﬂﬂ:ﬂ?ﬁ:ﬂ‘%#ﬁ.%hE:

L]

Sﬂ..ﬁ'ﬂ-'ﬁlﬂ'.ﬁ'.-gr-ll}:!ﬁ:!?.

18Y
5 Becond number = | 138 x — | = 80,
)
Let the numberas be x, yand = Then, x + y= 45, ¥+ 2= 66 and 3x+ 2= 90
= yudb-x E=fG-y=55-(45-x=10+x
s Bx+ 10+ x = B0 or x = 2,
¥e=(d6 = 20) = 25 and 2 = (10 + 20) = 30.
= Third number = 30.

(DATA SUFFICIENCY TYPE QUESTIONS)

Directions (Questions I o & : Each of the questions given below consists of a
gtalement and/f or 8 guestion and two statements oumbered I and IT given belew it. You
have to decide whether the deta provided in the statementls) is/are sefficient fo
answer the question. Read both the statements and

(Give anawer (&) if the data in Statement [ alone are sufficient to apswer the
goestion, whils the data in Statement II alose are ool sufficient (o answer Lhe guestion;
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Qive answer (b) if the data in Statementi II slone are sufficient to answer the
guestion, while the data in Statement [ aflone are pot sufficient Lo answer the guestion;

Give answer (¢) if the data either in Statement I or in Statement Il alone are
sufficient to answer the guestion;

GGive answer (d) if the data even in both Statements [ and [I together are oot
sufficient to answer Lhe gquesiion;

Give apswer (&) if the data in both Statements I and IT together are necessary to
answer the question,

1. What iz the two-digit number 7 (8.B.1L.P 0. 2008)
I. The differecace betwoon the twe digite iz 9.
11. The sum of the digits is equal to the difference between the two digits.
2. What is the difference between the digits of a two-digit number ? (Bank F.O. 1998)
I. The sum of the digits of that number is &
Il. One-fifth of that number is 15 less than half of 44.
3. What i= the ratio between the two numbers ?
I. The sum of two numbers is twice their difference.
I1. The smaller number is &
4. What is the two-digit number whose first digit iz a and the second digit is b ? The
number is greater than 8. (M.A.T. 2000}
I, The number i= a mulliple of 51,
11. The sum of the digits & and bis &
5. The difference between the digits of a two-digit number is 4. What is the digit in the
unit's place
1. The difference between the number and the number obtained by interchanging the
positions of the digits is 36.
[I. The sum of the digts of that aumber 15 12
6. What iz the number ? {(Bank FO. 2000}
[. The sum of the twe digits is & The ratio of the two digits is 1 : 3.
IL The produet of two digits of a number is 12, The quotient of two digits is 3.
Directions (Questions 7 te 10} : Each of the questions given below consists of &
guestion followed by three statements. You have to study the question and the statements
and decide which of the statemenis) is/are necessary to answer the given queslion.

7. What i& the two-digit number 7 (M.B.A. 2002)
I. Sum of the digits iz 7.
1. Difference between the number and the number obtained by interchanging the

digits is 9,
1M1 Digit in the ten's place is bigger than the digit in the unit’s place by 1.
{a) 1 and 11 enly (b) IT and 111 anly ted 1 and [T ondy
(adh All 1, IT and 111 (g} Mome of these

8 What is the sum of the digits of the two-digit number ?
l. The ratée between the ten's digit and unit’s digit of the number is 3 : 2.

T. The number chtained on reversing the order of ita digite is 15 luss than the
ariginal number

111, The product of the digits iz 24,
(a2} Any two of the three ibi 1 only or Il and 1] enly  (ch All 1, I and III
(d] | and 11 anly (M MNene of thess
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9.

10

Cruantitalneg Apbilucs

What will be the sum of two numbers 7 (8.B.L.EQ. 2000)
L' Among the two numbers, the bigger number is greater than the smaller number
by 8.
IL. 40% of the smaller number 8 equal to 30% of the bigger number

T11. The ratic between half of the bigger number and one-third of the smaller number
is 2 1.

ini T and 11 enly (b I and ITT only (el All T, 1T and T
(e Any twoe of the thres (& Mone of these
What is the two-digit number 7 (R.B.I 2002)

1. The difference between the two-digit number and the aumber formed by interchonging
the digits is 27.
II. The difference between the two digits is 3.
111, The digit at unit's place is less tham that at ten's place by 3.

iz | and 11 enly () T and TIT only ich All I. 11 and III
idh 1, and either 11 or 101 {e) Even with all 1, II and [1I, answer cannob be given.
ANSWERS

4

Lis -2 (& 3 (a4 0 6 & T8 8. (a)

Lt the tens and wurl dl.g:‘t.ll- be x and frﬁpﬁtﬁ“ﬂh‘: Then,
Lx—yp=8
L x+y=x-x
From [ and Il, we get x = y= B and x+ y= 8,
On solving, we gel x = B and v = 0.
Heuired number s 50,
Thus, both | and 1l are needed to get the answer
& Coreect answer 15 (al,
Let the tens and unit digits ba & and » respectively. Then,
Lx+ymi ° il £F

1 1
1. [%x'!.rl.]-iﬂﬂ.:+_-,':l =15 = 1z+y¥ =35 A EF}

On selving (7 and (i), we get x = 3 and y= 5
Thus, | and 1T tegether give the answor
Correcl answer i {al.

. Let the two numbers be x and ¥

Igim.:+y=2[:-yrﬂ:*3ym§-—% o e b e
Thus, | anly gives the answer

II does not give the answer

& Correct answer is (4l o
MNumber = 10b + A.

L1db+p=flxewhere e=1,2 3ete. .40

Ma+hb=6 Ll
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Taking # = 1, we get 10b + (& -~ B = 51 ¢ Ob= 45 &= b= b
a4 =1, b =5 So, number™s 5L
Thus, 1 and 1T together give the answer
-~ Correct answer is (&,
B. Let the ten’s digit ba x and unit's digit be ¥

Then, x—y=+4 LI}
Lilizr+ #=(l0y+x)=36 =& x=¥=4 —ALE
oL x+y=12 LT}

Thus, (i) and (i) together give ithe answer
II alone gives the apnswer and [ alone does not give the answer
= Correct angwer is (b
6. Let the tens and unita digit be x and v respectively. Then,
x 1
L x+y =8 and =1
L o= 12 a0 £ - Ft!
Il gives, ® = 36 & x= 6 S0, 3y=6 = y=2
Thus, 1l alone gives the number. Clearly, | alooe does not give the answer
~  Correct answer is (h).
7. Let the teng and unils digit be ¥ and v respectively
Lx+y=T :
I (idx+ W —(ldy+x=9 =2 x—y=1
M. x-y=1
Thus, [ and 11 az well as | and 111 give the answer
& Correct anewer is (6.
B. L Lat the tens and unite digit be 3x and 2x respoctively
IL (30x + 20) — (20x + 3 = 18 &= x= B
Mirx2x=2 & CFesd = ¥=2
Thus, any two of the three will give the answer
& Correct answer i8 {a).
8. Let the required numbers be ¥ and ¥, where ©> 3

Lx-—y=8 wAi]
an 410 J
InI. —x = — = Ar =45 =1 LET)]
00"~ 1007 %
l:l
" 2 ar ] ¥ 4
MRy P
E.'l'

Thus, 1 and IT only give the answer
. Correct answer is (a).
10. Let the tens and units digit be x and y respectively
LilOx+ 3 ={10y+ 0= 27 e x=y=i
IL x=y=4
O x=y= 3.
Thus, even all the given three statoments together do not give the answer
Correct answer i (&,
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